EANRAROBREIEHRT — 2 N—XBISYH —F 201578168 (k) oEEM2A

JIFv RC2 ¥5FR3®L BRI R
[AE4£] 1% :250,000 ™ ~ 23#%&:50,000"  33%&:25,000M”  43%&:15000MH ~ 57 :10,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= 4 4 | EREFNE 1:32.1 4-5-5-5 |39.6| — 5 455 | HTEERE (EIMA)
1|8f10 PoATXHTA 8.0 =) Gy | FEEA
RN YZwT T4 L BYICRTAZT 1 ke
o g RRE :32. -9-10- . — XKEE= (BE)
2 o | V¥ IAY I 4 8 LK 1(73%:; 9-9-10-10 | 39.0 7 tg;s 2L
RNFGHEART )=y B F o W A
. NN 6 | FEAEAL 1:32.2 1-1-1-1 401 | — 4 | 489 |FERE (EH)
3 4| E JN)TH=-FT> * 540 (76) (+5) ;E; #i)lﬁj“/\*z ~MAE
L7171 5—T714297 B:7yx%x—-—-X HKEH S
o = AFfE : -4-3- — ERE R5A (EM)
47|87y TNTZI IR O 1('13/22')3 s 199 1 ?_is) FOET
R:T7vIs5—L B:xv>T1AvAIL HpZX 2y K
.o N FTE— 132, —2-2— . — FEEF— (FEH
555 LA KT ¥ 3 T 1(322)6 2-2-2-2 | 40.4 6 :1_763; i
R:772)I17 B:7x1¥—-X710vF ESdHhTT7— L4
== 4 3 | TRbEd 1:32.8 3-3-4-4 |40.4| — 10 | 414 |FwAMB (FEH)
6/18/9 H—777 =y 54.0 (1 1/4) (-6) |FEIE
L—NFXHPLF— B:F—-X3ITFyi— AV -4
5 | AWLRE 1:32.8 7-7-7-6 | 40.2| — 2 482 | RFI=E (EMH)
ZH 3|11 F— g 57.0 (7 5%) (-5 | FRHImRE
RTFRIAYT1EE BT/ A—F 1) EHE =
= = 4 7 | EllED 1:32.9 9-9-8-9 |40.0| — 9 495 | E)II¥EE (EMA)
8l7l7| 71277 56.0 (£ E) (-1) FRHE
LT S— A U= B TO—5 AT FR AN
o 4 # 3 | JIEE— 1:33.2 6-6-5-7 |40.7| — 3 489 | HEEH—pB (EM)
911 a1/ XIN—=4& 55.0 (11/2) (+6) FEEE
RTAVHLRZ BF4T7 > b— 1= &L
N TR :33. —8-8- . = HEM—RR (EH)
N - RS ZETAN I (17:;372) 7-8-8-7 | 40.4 8 ?:1; e
R:TA—FAFAF =X BL—FTKTI LR B 77—L4
® 1—F—@EBIERL
1T=7r= 4,5,9,(8,10),1,(3,6),(2,7)
23— — 4,5,9,8,10,1,3,6,(2,7)
Jol=5r= 4,5,8,9,(1,10),3,(6,7),2
43—+ — 4,5,8,9,10,3, (1,6),7,2
[ /N
B 10 1,110 714K 2-10 2,390M B 2-8 10,0708 JEE 2-4-10 14,280H
B B 10 430M 4-10 1,070H B & 2-10 11,920 JEE 10-2-4 151,120M
2 610M 2-4 1,480H B E 10-2 19,450M
4 270M

ABICOVWTRDTEEERROODE. TR LIV,



